Triangles — Day 2

Name: ﬁ QU\ Hour:
* Advanced Triangle In-class Practice

Directions: #1-4 Identify the indicated type of triangles if m<ADC=90°,
AB=BD=AD=CD.

1. Right 2.  «Obtuse- § a Ut \, ateral f/{
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3. Scalene 4. Isosceles
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5. Name the scalene triangles:

AVWX , ATZX, ATOY
NOZX, DAYV, AVLY, AYVX

6. Name the isosceles triangles:
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Triangle Inequalities: Individual Practice

Triangles — Day 2
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[n Exercises | and 2, determine whether it is possible to draw a triangle
with sides of the given measures. If it is possible, write ves. [f it s not
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[n Exercises 4—6, arrange the unknown measures in erder from greatest

passibile, write no and make a sketch demonstrating why it is not possible
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3. If 17 and 36 are the lengths of two sides of a triangle, what is the ran
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10, Explain why AP005 is isosceles )
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